21/22A

@® Two small beads having positive charges 3¢ and ¢ are
fixed at the opposite ends of a horizontal insulating rod,
extending from the origin to the point x = d. As shown in
Figure P23.8, a third small charged bead is free to slide
on the rod. At what position is the third bead in equilib-
rium? Explain whether it can be in stable equilibrium,

Figure P23.8

21/22B

. Four identical charged particles (¢ = +10.0 pCG) are
located on the corners of a rectangle as shown in Figure
P23.43. The dimensions of the rectangle are L = 60.0 cm
and W= 15.0 cm. Calculate the magnitude and direction
of the total electric force exerted on the charge at the
lower left corner by the other three charges.
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Figure P23.43



21/22C

- Identical thin rods of length 24 carry equal charges +Q
uniformly distributed along their lengths. The rods lie
along the x axis with their centers separated by a distance
b > 2a (Fig. P23.47). Show that the magnitude of the
force exerted by the left rod on the right one is
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Figure P23.47



